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lV Sernester M.A. Examination, June
(cBcs)

ECONOMICS

2016

aper - 4.1 : Advanced Computer Appllcations fsr Economic Analysis

ime:2 Hours Max. Marks:50

lnstruetians : Answer all the qusestions.

PART-A

Seetion - !

Answer any f ive questions :
a) Define simultaneous equations bias.
b) Define the z-score of discriminate function.
c) Define behavioural equation.
d) State the objectives of Ractor Analysis.
e) What is cluster analysis ?
f) Define electionic trading.
g) What do you mean byvalidatior: ?
h) Define B2B model.
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nswer any two.questions :

(5x1=5)

(2x5=10)

Explain discriminate analysis. lqr which situation it is used ?

Explain the inconsistencyof OLS estimations in the contextof simultaneous equations.

Write the proeedure to estimate multiple regression in SFSS with an example.

Describe tfie role of C.S.O. in construction of data base on lnrdian Economy.

FART_ B
Sect$en - E

Answerany fEve questions :
a) Distingu[sh bivaYiate and nruftivaniate g'nodeFs.
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h) Eefirre necursive model"
e) Eefine under identitied equatir>n"
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d) Define hit ratio and R-square'
e) What is meant by digital signature ?

f). Define the level of significance'
g) Define B2C model.
h) What is meant bY online bankinE ?
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Answer anY two questions :

7'WlratisANCOVA?Exp|ainitsapplicationineeonomicana|ysis.

8'Exp|aintheprocedureofestimationofrecursivemodel'
g. Discuss the application of inforrnation technology in stock exchange'

10. Analyse the use of electronic trading'

Seetion - lll

AnsweranY two questions :

1 1 . What is identificatiosr ? Exanrine the procedure ts estimate over identlfied equation'

12. The following data represent the yield c't a crop frorn four farm plots which tlses

four varieties ot terfil[ers. Test whethen there is significant difference in yield

usin g aPProPriate tes't'

13. Thefollowing datashowsthe saiary of 5 persons'

the level of educatiosr and intenpnet t'ne results'
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Regress it on exPerience ano
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(2x5=1
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